Example: Calculate the total hydrostatic force on
Note: | show F_v the curved gate AB per meter of depth (into the
as down here. But page). Find the line of action. The gate has a

radius of R=6m.

this is the reaction
of the gate. The
vertical force of the
water is up.
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Note: I show F_v as down here. But this is the reaction of the gate. The vertical force of the water is up.
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Should be m^3
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But this is the
reaction of the gate.

7 The vertical
— ( Z F 2 hydrostatic force of
F - # + Vv the water is up.
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Note: I show F_v as down in the FBD. But this is the reaction of the gate. The vertical hydrostatic force of the water is up.




